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1 107 R EE 0 INS REAHIEEESST 55.700

2 121 A T 0 ING | RR—RIERKIZYST | 54.350 1.350

3 10 Pkt tiE 0 IN5| 1 AIEKIR ST nge| 53.625 0.725

4 118 A0 BN 0 M6 EJIAEYST 52.350 1.275

5 117 =i 2 0 INS S {RIES ST 52.150 0.200

6 97 Lif ZkfH 0 INA R — LfR$84957T| 51.925 0.225

7 199 ARHEH = 0 INA| 1A IEHKIR 55T nee| 51.875 | 0.050

7 103 ZE HHK 0 INS TALRKIESS5T| 51.875 0.000

9 123 B ME 0 N6 LDy I RR—Y|51.775 0.100

10 112 K¥ FF 0 ING #mULFRT 95557 51.500 0.275
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7 e /O BH 0 N6 EJIAERSST 14100 0025 | [ 7 97| LEiE 2K 0 ING R — L fK$2457 13.050 0.100
8 |6 ] FAR 0 ING|RSAHIRIRESST 14075 (0025 | | 8 125 KK FAE 0 NG| LSwH RAR—Y 12.900 0.150
9 115 B EIE 0 ING ESLFRT495557 14050 (0025 | [ 9 |00 BEE +tiE 0 ING | 12 A 1RSS5 T nge| 12.850 |0.050
10 |108| EfE EF 0 ING NPOEAT=wLKIR5T 14,025 0025 | |10 |99 ARHA = 0 ING | 7R A SRR 5T —nge 12.800 |0.050
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